Mass = 0.1 Msun						Mass = 0.55 Msun
Luminosity = 0.0001 Lsun				Luminosity = 0.09 Lsun
Surface Temperature = 2700 K			Surface Temperature = 4600 K
Main-Sequence Lifetime = 10 trillion yr		Main-Sequence Lifetime = 60 billion yr
	
Mass = 0.15 Msun		 Proxima Centauri	Mass = 0.6 Msun		Alpha Centauri
Luminosity = 0.0005 Lsun				Luminosity = 0.1 Lsun
Surface Temperature = 2800 K			Surface Temperature = 4700 K
Main-Sequence Lifetime = 46 billion yr 		Main-Sequence Lifetime = 3 trillion yr	

Mass = 0.2 Msun						Mass = 0.7 Msun
Luminosity = 0.002 Lsun				Luminosity = 0.2 Lsun
Surface Temperature = 3000 K			Surface Temperature = 5000 K
Main-Sequence Lifetime = 1.3 trillion yr		Main-Sequence Lifetime = 29 billion yr
	
Mass = 0.24 Msun						Mass = 0.75 Msun
Luminosity = 0.003 Lsun				Luminosity = 0.3 Lsun
Surface Temperature = 3100 K			Surface Temperature = 5100 K
Main-Sequence Lifetime = 720 billion yr		Main-Sequence Lifetime = 24 billion yr
		
Mass = 0.27 Msun	 	   Barnard’s Star		Mass = 0.8 Msun 		       Tau Ceti
Luminosity = 0.005 Lsun				Luminosity = 0.4 Lsun
Surface Temperature = 3300 K			Surface Temperature = 5200 K
Main-Sequence Lifetime = 510 billion yr		Main-Sequence Lifetime = 20 billion yr

Mass = 0.3 Msun						Mass = 0.9 Msun
Luminosity = 0.008 Lsun				Luminosity = 0.7 Lsun
Surface Temperature = 3500 K			Surface Temperature = 5500 K
Main-Sequence Lifetime = 370 billion yr		Main-Sequence Lifetime = 14 billion yr
		
Mass = 0.33 Msun						Mass = 1 Msun 			   Sun
Luminosity = 0.01 Lsun 				Luminosity = 1 Lsun
Surface Temperature = 3700 K			Surface Temperature = 5800 K
Main-Sequence Lifetime = 280 billion yr		Main-Sequence Lifetime = 10 billion yr
	
Mass = 0.36 Msun						Mass = 1.05 Msun
Luminosity = 0.02 Lsun				Luminosity = 1.2 Lsun
Surface Temperature = 3850 K			Surface Temperature = 6000 K
Main-Sequence Lifetime = 210 billion yr 		Main-Sequence Lifetime = 8.6 billion yr

Mass = 0.4 Msun						Mass = 1.1 Msun
Luminosity = 0.03 Lsun				Luminosity = 1.5 Lsun
Surface Temperature = 4000 K			Surface Temperature = 6100 K
Main-Sequence Lifetime = 160 billion yr		Main-Sequence Lifetime = 7.5 billion yr
Mass = 0.45 Msun						Mass = 1.2 Msun
Luminosity = 0.04 Lsun				Luminosity = 2 Lsun
Surface Temperature = 4200 K			Surface Temperature = 6500 K
Main-Sequence Lifetime = 110 billion yr		Main-Sequence Lifetime = 5.8 billion yr
	
Mass = 0.5 Msun						Mass = 1.3 Msun
Luminosity = 0.06 Lsun 				Luminosity = 3 Lsun
Surface Temperature = 4400 K			Surface Temperature = 6900 K
Main-Sequence Lifetime = 80 billion yr		Main-Sequence Lifetime = 4.6 billion yr
	
Mass = 1.4 Msun 			 Procyon		Mass = 1.5 Msun
Luminosity = 4 Lsun					Luminosity = 5 Lsun
Surface Temperature = 7500 K			Surface Temperature = 7600 K
Main-Sequence Lifetime = 3.6 billion yr		Main-Sequence Lifetime = 3 billion yr
		
Mass = 1.8 Msun  			Altair			Mass = 2 Msun 			Sirius
Luminosity = 10 Lsun					Luminosity = 16 Lsun
Surface Temperature = 8000 K			Surface Temperature = 8500 K
Main-Sequence Lifetime = 1.7 billion yr		Main-Sequence Lifetime = 1.3 billion yr

Mass = 3 Msun 			Vega			Mass = 5 Msun 		     Regulus 
Luminosity = 80 Lsun					Luminosity = 600 Lsun
Surface Temperature = 11,000 K			Surface Temperature = 13,000 K
Main-Sequence Lifetime = 370 million yr		Main-Sequence Lifetime = 80 million yr
	
Mass = 8 Msun  			Bellatrix		Mass = 10 Msun 			Spica
Luminosity = 4000 Lsun				Luminosity = 10,000 Lsun
Surface Temperature = 17,000 K			Surface Temperature = 22,000 K
Main-Sequence Lifetime = 20 million yr		Main-Sequence Lifetime = 10 million yr
	
Mass = 15 Msun 		  Beta Centauri		Mass = 35 Msun 	
Luminosity = 50,000 Lsun				Luminosity = 320,000 Lsun
Surface Temperature = 30,000 K			Surface Temperature  = 42,000 K
Main-Sequence Lifetime = 3 million yr		Main-Sequence Lifetime = 1 million yr
	
Mass = 50 Msun 	
Luminosity = 350,000 Lsun
Surface Temperature = 50,000 K
Main-Sequence Lifetime = 1 million yr





Mass = 0.1 Msun						Mass = 0.55 Msun
Luminosity = 10-4 Lsun					Luminosity = 9 x 10-2 Lsun
Surface Temperature = 2700 K			Surface Temperature = 4600 K
Main-Sequence Lifetime = 1013 yr			Main-Sequence Lifetime = 6 x 1010 yr
	
Mass = 0.15 Msun	 	Proxima Centauri	Mass = 0.6 Msun 		Alpha Centauri
Luminosity = 5 x 10-4 Lsun				Luminosity = 10-1 Lsun		
Surface Temperature = 2800 K			Surface Temperature = 4700 K
Main-Sequence Lifetime = 3 x 1012 yr		Main-Sequence Lifetime = 4.6 x 1010 yr

Mass = 0.2 Msun						Mass = 0.7 Msun
Luminosity = 2 x 10-3 Lsun				Luminosity = 2 x 10-1 Lsun
Surface Temperature = 3000 K			Surface Temperature = 5000 K
Main-Sequence Lifetime = 1.3 x 1012 yr		Main-Sequence Lifetime = 2.9 x 1010 yr
		
Mass = 0.24 Msun						Mass = 0.75 Msun
Luminosity = 3 x 10-3 Lsun				Luminosity = 3 x 10-1 Lsun
Surface Temperature = 3100 K			Surface Temperature = 5100 K
Main-Sequence Lifetime = 7.2 x 1011 yr		Main-Sequence Lifetime = 2.4 x 1010 yr
		
Mass = 0.27 Msun		   Barnard’s Star		Mass = 0.8 Msun 			Tau Ceti
Luminosity = 5 x 10-3 Lsun				Luminosity = 4 x 10-1 Lsun
Surface Temperature = 3300 K			Surface Temperature = 5200 K
Main-Sequence Lifetime = 5.1 x 1011 yr		Main-Sequence Lifetime = 2 x 1010 yr

Mass = 0.3 Msun						Mass = 0.9 Msun
Luminosity = 8 x 10-3 Lsun				Luminosity = 7 x 10-1 Lsun
Surface Temperature = 3500 K			Surface Temperature = 5500 K
Main-Sequence Lifetime = 3.7 x 1011 yr		Main-Sequence Lifetime = 1.4 x 1010 yr
		
Mass = 0.33 Msun						Mass = 1 Msun				Sun
Luminosity = 10-2 Lsun 				Luminosity = 1 Lsun
Surface Temperature = 3700 K			Surface Temperature = 5800 K
Main-Sequence Lifetime = 2.8 x 1011 yr		Main-Sequence Lifetime = 1010 yr
	
Mass = 0.36 Msun						Mass = 1.05 Msun
Luminosity = 2 x 10-2 Lsun				Luminosity = 1.2 Lsun
Surface Temperature = 3850 K			Surface Temperature = 6000 K
Main-Sequence Lifetime = 2.1 x 1011 yr 		Main-Sequence Lifetime = 8.6 x 109 yr

Mass = 0.4 Msun						Mass = 1.1 Msun
Luminosity = 3 x 10-2 Lsun				Luminosity = 1.5 Lsun
Surface Temperature = 4000 K			Surface Temperature = 6100 K
Main-Sequence Lifetime = 1.6 x 1011 yr		Main-Sequence Lifetime = 7.5 x 109 yr
Mass = 0.45 Msun						Mass = 1.2 Msun
Luminosity = 4 x 10-2 Lsun				Luminosity = 2 Lsun
Surface Temperature = 4200 K			Surface Temperature = 6500 K
Main-Sequence Lifetime = 1.1 x 1011 yr		Main-Sequence Lifetime = 5.8 x 109 yr
		
Mass = 0.5 Msun						Mass = 1.3 Msun
Luminosity = 6 x 10-2 Lsun 				Luminosity = 3 Lsun
Surface Temperature = 4400 K			Surface Temperature = 6900 K
Main-Sequence Lifetime = 8 x 1010 yr		Main-Sequence Lifetime = 4.6 x 109 yr
	
Mass = 1.4 Msun			Procyon		Mass = 1.5 Msun
Luminosity = 4 Lsun					Luminosity = 5 Lsun
Surface Temperature  = 7500 K			Surface Temperature = 7600 K
Main-Sequence Lifetime = 3.6 x 109 yr		Main-Sequence Lifetime = 3 x 109 yr
		
Mass = 1.8 Msun			Altair			Mass = 2 Msun			Sirius
Luminosity = 10 Lsun					Luminosity = 16 Lsun
Surface Temperature = 8000 K			Surface Temperature = 8500 K
Main-Sequence Lifetime = 1.7 x 109 yr		Main-Sequence Lifetime = 1.3 x 109 yr

Mass = 3 Msun			Vega			Mass = 5 Msun		      Regulus
Luminosity = 80 Lsun					Luminosity = 6 x 102 Lsun
Surface Temperature = 11,000 K			Surface Temperature = 13,000 K
[bookmark: _GoBack]Main-Sequence Lifetime = 3.7 x 108 yr		Main-Sequence Lifetime = 8 x 107 yr
	
Mass = 8 Msun			Bellatrix		Mass = 10 Msun			Spica
Luminosity = 4 x 103 Lsun				Luminosity = 104 Lsun
Surface Temperature = 17,000 K			Surface Temperature = 22,000 K
Main-Sequence Lifetime = 2 x 107 yr		Main-Sequence Lifetime = 107 yr
	
Mass = 15 Msun		Beta Centauri		Mass = 35 Msun
Luminosity = 5 x 104 Lsun				Luminosity = 3.2 x 105 Lsun
Surface Temperature = 30,000 K			Surface Temperature  = 42,000 K
Main-Sequence Lifetime = 3 x 106 yr		Main-Sequence Lifetime = 106 yr
	
Mass = 50 Msun
Luminosity = 3.5 x 105 Lsun
Surface Temperature  = 50,000 K
Main-Sequence Lifetime = 106 yr
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